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Question #250 
Key: A 
 
The density function is 2 /( ) xf x x e �� � ��  and the likelihood function is 

2 /186 2 /91 2 / 66 / 60 7

3 0.148184

1

( ) (186 ) (91 ) (66 ) ( )

( ) ln ( ) 3ln( ) 0.148184
( ) 3 0.148184 0

3/ 0.148184 20.25.

L e e e e
e

l L
l

� � � �

�

� � � �

�
� � � �

� �
�

� � � � � � �

�

�

�

�
� � �

� � � �
� �

 

The mode is / 2 20.25 / 2 10.125� � � . 
 
 
Question #251 
Key: D 
 
We have ( ) 4  and 4E( ) 4(600) 2400� � � � �� � � � .  The average loss for Years 1 and 2 is 
1650 and so 1800 (1650) (1 )(2400)Z Z� � �  which gives Z = 0.8. Because there were two 
years, 0.8 2 /(2 )Z k� � �  which gives k = 0.5. 
 
For three years, the revised value is 3/(3 0.5) 6 / 7Z � � �  and the revised credibility 
estimate (using the new sample mean of 2021), (6 / 7)(2021) (1/ 7)(2400) 2075.14� � .  
 
 
Question #252 
Key: B 
 
The uncensored observations are 4 and 8 (values beyond 11 are not needed).  The two 
r values are 10 and 5 and the two s values are 2 and 1.  The Kaplan-Meier estimate is 

ˆ(11) (8 /10)(4 / 5) 0.64S � �  and Greenwood’s estimate is 2 2 1(0.64) 0.03072
10(8) 5(4)
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